TABELA ZESTAWCZA ZJAZDOW
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Z1 00+006,82 - - P 4+1,2 6 Kb - - 24 13 - 58 5961
Z2 | 00+007,73 | - - L [35+12| 55 Kb - - 21,3 | 126 - 58 5895
Z3 | 00+012,73 | - - P [38+12| 58 Kb - - 233 | 136 - 58 5962/1
Z4 | 00+038,69 | - - P [36+12| 56 Kb - - 22,8 | 136 - 6,1 | 5962/2,5962/1
Z5 | 00+00441 | - - P [38+12| 58 Kb - - 24,6 14 - 6,2 5966/1
Z6 | 00+054,28 | - - P 35 55 Kb - - 228 | 127 - 6,2 5966/2
Z7 | 00+063,75 | - - P [36+1,2| 46 Kb - - 233 | 94 - 6,4 5966/2
Z8 | 00+067,45 | - - P [38+12| 48 Kb - - 245 | 97 - 6,4 5967/1
Z9 | 00+088,15 | - - L 4,2 5,2 Kb - - 26,1 | 87 - 6,1 5896/2
Z10 | 00+091,85 - - L |32+12| 4.2 Kb - - 19,8 8,8 - 6,1 5897
Z11 | 00+096,95 | - - P [36+12| 4,6 Kb - - 22,7 | 93 - 6,2 5968
Z12 | 00+100,75 | - - P [40+12| 5 Kb - - 252 | 68 29 6,2 5969
Z13 | 00+099,61 | - - L 4 6 Kb - - 251 | 129 - 6,0 5897
Z14 | 00+110,51 - - L 35 55 Kb - - 22 9,5 29 6,0 5898/2
715 | 00+123,50 | - - L 4,0 6 Kb - - 251 | 7.2 58 6,0 5898/3
Z16 | 00+130,84 | - - P [38+12| 48 Kb - - 234 | 79 58 59 5970/1
Z17 | 00+140,84 | - - L | 5+1,2 6 Kb - - 296 | 7,6 29 59 5899
Z18 | 00+14584 | - - L 5 6 Kb - - 29,8 | 948 - 5,9 | 5900/3,5900/4
719 | 00+14531 | - - P [38+25| 48 Kb - - 227 | 79 29 59 5970/2
Z20 | 00+149,71 | - - p 5 6 Kb - - 296 | 64 29 59 5972/3
Z21 | 00+169,23 - - L |37+12| 57 Kb - - 225 | 13,7 - 58 5901
722 | 00+173,27 | - - P | 4+12 6 Kb - - 242 | 109 | 29 5,8 | 5972/2,5972/1
Z23 | 00+196,68 - - P 4 6 Kb - - 242 | 12,6 - 58 5984/1
Z24 | 00+196,80 | - - L [38+12| 48 Kb - - 219 | 9.2 - 5,6 5902/2
Z25 | 00+200,90 | - - L 4,40 54 Kb - - 252 | 85 - 5,6 5902/1
726 | 00+212,68 | - - p 3 5 Kb - - 11,8 - 58 5984/1
Z27 | 00+217,75 - - L |33+12| 53 Kb - - 19,9 13 - 57 5903/1,5903/2
728 | 00+221,99 | - - P [38+12| 58 Kb - - 23 | 136 - 58 5984/1
729 | 00+237,88 | - - L 35 55 Kb - - 212 | 121 - 58 5904
Z30 | 00+246,39 | - - L [38+12| 58 Kb - - 23 | 136 - 58 5904
Z31 | 00+256,88 - - L 4.4 6,4 Kb - - 351 | 171 - 7.8 5905
Z32 | 00+271,06 | - - P [35+12| 55 Kb - - 184 | 11,6 - 5 5984/4
Z33 | 00+294,31 - - P |35+12| 55 Kb - - 18,7 | 11,9 - 5 5985
Z33a - L |[4,0+1,2 6 Kb - - 17,0 9,9 - 4 6517/2
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Z34 | 00+306,41 - - P [35+12| 45 Kb - - 18,7 | 82 - 5.2 5986
Z35 | 00+309,91 - - P [35+12| 45 Kb - - 18,8 8,4 - 52 5987
Z36 | 00+320,95 - - P 4,0 6 Kb - - 225 | 116 - 54 5988, 5987
Z37 | 00+332,28 - - L 5,0 7 Kb - - 32 - 195 | 55 6432/3
Z38 | 00+347,07 - - P 4,0 6 Kb - - 25 - 17,99 | 53 7214
Z39 | 00+435,60 - - P 5,0 7 Kb - - 278 | 9,6 29 54 5995
Z40 | 00+442,23 - - P 4,0 6 Kb - - 22,3 | 11,51 - 53 6001
Z41 | 00+463,55 - - P 4,3 6,3 Kb - - 24,7 | 121 - 55 6002
Z42 | 00+472,54 - - P | 4+12 6 Kb - - 203 | 97 29 55 6003
Z43 | 00+492,11 - - P 4,0 6 Kb - - 232 | 90 29 55 6004
Z44 | 00+501,69 - - P | 4+12 6 Kb - - 227 | 99 29 54 6005
Z45 | 00+514,22 - - L 4,0 6 Kb - - 22,6 | 11,6 - 54 6520
Z46 | 00+523,48 - - P [34+12| 54 Kb - - 182 | 86 29 5,0 6006
Z47 | 00+534,07 - - L |33+1,2| 53 Kb - - 192 | 124 - 54 5929/1
748 | 00+537,20 - - P [40+12| 6 Kb - - 20,8 | 119 - 5,0 6007/1
Z49 | 00+547,45 - - P |34+12| 54 Kb - - 18,0 8,5 29 5,0 6007/2
Z50 | 00+574,42 - - P [46+12| 6,6 Kb - - 246 | 99 29 51 6008/1
Z51 | 00+610,43 - - L 4,0 6 Kb - - 22,6 | 11,62 - 54 5953/2
Z52 | 00+612,66 - - P [34+12| 54 Kb - - 186 | 11,8 - 52 6010
Z53 | 00+639,96 - - L 4,0 6 Kb - - 228 | 118 - 55 5954
Z54 | 00+652,75 - - L 43 53 Kb - - 240 | 8.2 - 55 5955
Z55 | 00+657,90 - - L 6,0 6,0 Kb - - 328 | 60 - 55 5955
756 | 00+663,00 - - L [42+30| 52 Kb - - 234 | 108 - 55 5956
Z57 | 00+663,43 - - P |44+12| 64 Kb - - 248 | 133 - 54 6011
Z58 | 00+679,12 - - L [32+1,2| 572 Kb - - 190 | 96 29 57 5956
Z59 | 00+683,43 - - P |43+12| 63 Kb - - 241 | 131 - 54 6012
7260 | 00+695,72 - - P [33+12| 53 Kb - - 18,0 | 12,4 - 54 6013
Z61 | 00+705,61 - - L |35+12| 55 Kb - - 21,2 | 10,1 29 57 5957
Z62 | 00+714,43 - - L 3,6 5,6 Kb - - 21,7 | 119 - 57 5957
Z63 | 00+715,05 - - P |39+12| 59 Kb - - 214 | 125 - 53 6014
Z64 | 00+731,96 - - L [35+12| 55 Kb - - 21,0 | 130 - 57 5959
Z65 | 00+741,00 - - P |35+12| 55 Kb - - 220 | 114 - 53 6015/1
Z66 | 00+748,65 - - L |35+12| 55 Kb - - 31,0 | 14,0 - 6,0 5960

Uwaga: zapis w postaci (3,5+1,2) oznacza, ze obok zjazdu o szer. 3,5 m nalezy wykonac
dojscie do furtki o szer. 1,2 m.




